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K3, 50A, 4D, SP, E : 6MPa, v:0.35, ¢ : 34deg
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K-, 50A, 4D, SP, E : 6MPa, v:0.35, ¢ : 34deg
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75, 150A, 2D, PE, v:0.35, ¢ : 34deg
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T, 150A, 1D, SP, v:0.35, o : 34deg
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T, 150A, 1D, SP, v:0.35, o : 34deg
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T, 150A, 1D, PE, v :0.35, o : 34deg
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T, 150A, 1D, PE, v :0.35, o : 34deg
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rORIVBETRAE

(2) TBEEH

TEHEHICKVEINE HLEH, CCTIFFEMEZITT—RNICTER SN TEEHERBVVET,

& 2-7 FEMEWICERALTWSTEEH

EHRE | .. EnaE | RES |ADEEA
+H N «N/m2) | NTYE s an/me)|  N/m?) (%)
H#H O+ 2~4 3,000 0.45 15 h0 6
Sk 1 800 0.49 16 10 0

2~3 2,400 0.45 16 30 6
wE 4 5,000 0.45 16 30 10
2Lk 15 15,000 0.40 17 60 15
6 5,000 0.45 15 80 6
¥ * 8~12 10,000 0.45 15 80 6
25 20,000 0.45 15 80 6

10 8,000 0.35 18 0.0 25~30

20 10,000 0.35 18 0.0 25~30
Rl 30 20,000 0.35 18 0.0 35
40 25,000 0.35 18 0.0 38
50 35,000 0.35 18 0.0 42
== 7] 50 50,000 0.356 18 0.0 42
40 30,000 0.30 20 0.0 39
B 50 50,000 0.30 20 0.0 472
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